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Instructions 
· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· If your calculator does not have a π button, take the value of π to be 
3.142 unless the question instructs otherwise.

Information

· The total mark for this paper is 100 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Suggested Grade Boundaries (for guidance only)

	A*
	A
	B
	C
	D

	71
	43
	24
	12
	6


GCSE Mathematics 1MA0

Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
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(a + b)h
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Volume of sphere 
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πr3 
Volume of cone 
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πr2h

Surface area of sphere = 4πr2 
Curved surface area of cone = πrl
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In any triangle ABC 
The Quadratic Equation



The solutions of ax2+ bx + c = 0



where a ≠ 0, are given by



x = 
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Sine Rule  
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Cosine Rule  a2 = b2+ c2– 2bc cos A

Area of triangle = 
[image: image11.wmf]1
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ab sin C

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1. 
The point A has coordinates (2, 3).

The point B has coordinates (6, 8).

M is the midpoint of the line AB.

Find the coordinates of M.

[image: image12.emf]
..........................................

(Total 2 marks)

___________________________________________________________________________

2.
Ishmal invested £3500 for 3 years at 2.5% per annum simple interest.

Work out the total amount of interest Ishmal earned.

£ ..................................

(Total 3 marks)

___________________________________________________________________________

3. 
Bill has some counters in a bag.

3 of the counters are red.


7 of the counters are blue.


The rest of the counters are yellow.

Bill takes at random a counter from the bag.

The probability that he takes a yellow counter is 
[image: image13.wmf]2

7

.

How many yellow counters are in the bag before Bill takes a counter?
..............................................

(Total 2 marks)

___________________________________________________________________________

4. 
Frank did a survey on the areas of pictures in a magazine.

The magazine had 60 pages.

Frank worked out the area of each of the pictures in the first 2 pages.

This may not be a good method to do the survey.

Explain why.

......................................................................................................................................................
......................................................................................................................................................

 (Total 1 mark)

___________________________________________________________________________

5. 
[image: image14.emf]
ANB is parallel to CMD.

LNM is a straight line.

Angle LMD = 68°


(i) 
Work out the size of the angle marked y.

...................................°


(ii) 
Give reasons for your answer.


.............................................................................................................................................

.............................................................................................................................................
 (3)

(Total 3 marks)
___________________________________________________________________________

6. 
Tame Valley is a company that makes yoghurt.
A machine fills trays of 20 pots with yoghurt.

In one hour, the machine fills a total of 15 000 pots.

Work out how many seconds the machine takes to fill each tray of 20 pots.
.......................................... seconds
(Total 4 marks)

___________________________________________________________________________

7.
Colin, Dave and Emma share some money.
Colin gets 
[image: image15.wmf]3

10

 of the money.

Emma and Dave share the rest of the money in the ratio 3 : 2.
What is Dave’s share of the money?

..........................................

(Total 4 marks)

___________________________________________________________________________

8. 
The diagram shows a CD.

The CD is a circle of radius 6 cm.
[image: image16.emf]
(a)
Work out the circumference of the CD.

............................... cm

(2)

CDs of this size are cut from rectangular sheets of plastic.

Each sheet is 1 metre long and 50 cm wide.

(b)
Work out the greatest number of CDs that can be cut from one rectangular sheet.

.....................................
(2)

 (Total 2 marks)
___________________________________________________________________________

9. 
The stem and leaf diagram gives information about the numbers of tomatoes on 31 tomato plants.
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	Key: 5 | 7 = 57 tomatoes

	3
	0
	2
	5
	5
	7
	9
	
	
	

	4
	2
	2
	3
	5
	8
	8
	
	
	

	5
	1
	1
	3
	4
	7
	
	
	
	


(a) 
Work out the median.

.............................................

(1)

(b) 
Work out the interquartile range.

..............................................

(2)

(Total 3 marks)

___________________________________________________________________________
*10. 
In the UK, petrol costs £1.24 per litre.

In the USA, petrol costs 3.15 dollars per US gallon.

1 US gallon = 3.79 litres

£1 = 1.47 dollars

Is petrol cheaper in the UK or in the USA?

(Total 4 marks)

___________________________________________________________________________

11. 
Here are four containers.

Water is poured into each container at a constant rate.
[image: image17.emf]
Here are four graphs.

The graphs show how the depth of the water in each container changes with time.

[image: image18.emf]
Match each graph with the correct container.

A and ..........................

B and ..........................

C and ..........................

D and ..........................
(Total 2 marks)
___________________________________________________________________________

12. 
The frequency table gives information about the times it took some office workers to get to the office one day.
	Time (t minutes)
	Frequency

	  0 < t (10
	4

	10 < t ( 20
	8

	20 < t ( 30
	14

	30 < t ( 40
	16

	40 < t ( 50
	6

	50 < t ( 60
	2


(a)
Draw a frequency polygon for this information.
[image: image19.emf]
(2)

(b) 
Write down the modal class interval.

..............................................

(1)

One of the office workers is chosen at random.

(c) 
Work out the probability that this office worker took more than 40 minutes to get to the office.

..............................................

(2)

(Total 5 marks)

___________________________________________________________________________
13. 

[image: image20.emf]
A is the point (–1, 2)

B is the point (7, 5)

(a)
Find the coordinates of the midpoint of AB.
(......................., .......................)
(2)

P is the point (–4, 4)

Q is the point (1, –5)

(b)
Find the gradient of PQ.
..........................................
(2)

(Total 4 marks)

___________________________________________________________________________

14. 
(a) 
Factorise 

x2 + 7x

..............................................

(1)

(b) 
Factorise 

y2 – 10y + 16

...............................................................................

(2)

*(c) 
(i) 
Factorise 
2t2 + 5t + 2

...............................................................................


(ii) 
t is a positive whole number.



The expression    2t2 + 5t + 2    can never have a value that is a prime number.



Explain why.


............................................................................................................................................


............................................................................................................................................


............................................................................................................................................
(3)

(Total 6 marks)

___________________________________________________________________________
15. 
ABCD is a trapezium.
[image: image21.emf]
AD = 10 cm

AB = 9 cm

DC = 3 cm

Angle ABC = angle BCD = 90°

Calculate the length of AC.

Give your answer correct to 3 significant figures.

.............................................. cm

(Total 5 marks)

___________________________________________________________________________
16.
The diagram represents a metal frame.
[image: image22.emf]
The frame is made from four metal bars, AB, AC, BC and BD.

Angle ABC = angle ADB = 90°

AB = 5 m

BC = 3 m

Work out the total length of the four metal bars of the frame.

Give your answer correct to 3 significant figures.
..............................................m
(Total 5 marks)

___________________________________________________________________________

17.

[image: image23.emf]
A, B, C and D are points on the circumference of a circle, centre O.

AC is a diameter of the circle.

AC and BD intersect at E.

Angle CAB = 25°

Angle DEC = 100°

Work out the size of angle DAC.

You must show all your working.
..............................................°
 (Total 4 marks)

___________________________________________________________________________

18. 
Change 9 cm2 to mm2.

............................ mm2
(Total 2 marks)

___________________________________________________________________________

19. 
Find the exact solutions of x + 
[image: image24.wmf]x

3

 = 7

.....................................
(Total 3 marks)

___________________________________________________________________________

20. 
Here is a triangle ABC.

[image: image25.emf]
AC = 90 m.

BC = 60 m.

Angle ACB = 130°.

Calculate the perimeter of the triangle.

Give your answer correct to one decimal place.

................................. m
(Total 4 marks)

___________________________________________________________________________

21. 
Prove that

(2n + 3)2 – (2n – 3)2 is a multiple of 8

for all positive integer values of n.

(Total 3 marks)

___________________________________________________________________________
22.

[image: image26.emf]
The diagram shows a triangle ABC.

LMNB is a parallelogram where


L is the midpoint of AB,


M is the midpoint of AC,

and N is the midpoint of BC.

Prove that triangle ALM and triangle MNC are congruent.

You must give reasons for each stage of your proof.

 (Total 3 marks)

___________________________________________________________________________

23. 
A and B are two solid shapes which are mathematically similar.

The shapes are made from the same material.

[image: image27.emf]
The surface area of A is 50 cm2.

The surface area of B is 18 cm2.

The mass of A is 500 grams.

Calculate the mass of B.

.......................... grams
(Total 4 marks)
___________________________________________________________________________

24. 
Solve
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 = 5x – 1
..................................
(Total 5 marks)

___________________________________________________________________________

25.
Solve the equations


 x2 + y2 = 36


x = 2y + 6

....................................................................................

(Total 5 marks)

___________________________________________________________________________

26.
v = 
[image: image29.wmf]b

a


a = 6.43 correct to 2 decimal places.

b = 5.514 correct to 3 decimal places.

By considering bounds, work out the value of v to a suitable degree of accuracy.

You must show all your working and give a reason for your final answer.

v = …………………………..

(Total 5 marks)

___________________________________________________________________________

27. 
Solve   
[image: image30.wmf]3

4

+

x

 + 
[image: image31.wmf]1
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3

-

x

 =  1
...........................................
(Total 5 marks)

___________________________________________________________________________

(TOTAL FOR PAPER: 100 MARKS)

	1
	
	
	(4, 5½ )
	2
	M1 for 
[image: image32.wmf]2

6

2

+

  or 
[image: image33.wmf]2

8

3

+

 or 4, 5½ without brackets

A1 for (4, 5½)  oe

NB: (4,5) gets 0 without working


	2
	
	
[image: image34.wmf]100

3
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2

3500

´

´


	262.50
	3
	M1 for 
[image: image35.wmf]100

5

.

2

3500

´

oe (=87.5) or 3500×1.025n
M1 for ’87.5’ x 3 or 3500 + ’87.5’×3

A1 for 262.5 or 262.50

SC: B2 for 3762.50 or 3762.5 if M0 scored

SC : B2 for 269.12 or 269.11

(B1 for 3769.12 or 3769.11)




	3
	
	
	4
	2
	M1 for 14 or  [image: image37.png]3+7



  or any fraction equivalent to [image: image39.png]


 or [image: image41.png]



A1 cao 




[image: image42.emf]
[image: image43.emf]
	6
	
	
	4.8
	4
	M1 for 60 × 60 (=3600)

M1 for 15000÷ 20 (=750) or 20÷15000 (=0.00133..) or “3600”÷15000 (=0.24) or 15000÷”3600” (=4.16..)

M1 for “3600” ÷ (15000÷20) or “3600”×20÷15000 oe

A1 cao




	7


	
	
	28% or [image: image45.png]




	4
	M1 for  100 ‒ 30 (= 70) or [image: image47.png]


 

M1 for  “70” ÷ (3 + 2) (= 14) or 

[image: image49.png]7/10



÷ (3+2)   (=[image: image51.png]


)

M1 for “14” × 2 or [image: image53.png]



A1 for 28% or [image: image55.png]


  oe




	8
	(a)
	
[image: image56.wmf]2

6

´

´
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	37.7
	2
	M1 for π × 12 or π × 2 × 6

A1 for 37.6- 37.8


	
	(b)
	(100 ÷ 12) × (50 ÷ 12)  = 8 × 4 whole CDs
	36


	2
	B2 for 33, 34, 35, 36

or

M1 for (100 ÷ 12) × (50 ÷ 12)  oe or 8 × 4
A1  for 32

SC : B1 for 44




	9
	(a)
	
	32
	1
	B1    cao



	
	(b)
	LQ = 21 UQ = 45
	24
	2
	M1  for 45 or 21 or 

43.5 or 19.5 or 

7.75th or 8th or 

23.25th or 24th 

(all of above may be seen in working space or indicated on S&L)

or 

clear attempt to find UQ and LQ from a list of values or in stem and leaf diagram

A1   cao 




	10
	
	For example

UK

USA

$ per US gal

($)6.90(8412)

[$3.15]

£ per litre

[£1.24]

(£)0.56(53...)

£ per US gal

(£)4.69(96)

(£)2.14(28...)

$ per litre

($)1.82(28)

($)0.83(11...)

Cost in £ per US gal  of UK fuel= £1.24 × 3.79 = £4.6996

Cost in $ per US gal of UK fuel  = $1.47 × 4.6996 = $6.908412


	Cheaper in US


	4


	M1   for 1.24 × 3.79 (= 4.6996) or

         1.24 × 1.47 (=1.8228)

M1    for 1.47 × ‘4.6996’ or 3.79 × '1.8228'

A1     for 6.90(8412)

C1     (dep on M2) for $’6.90(8412)’ or $'6.91' and reaching a conclusion consistent  with their calculation



	11
	
	
	A  and  3

B  and  2

C  and  4

D  and  1


	2
	B2  for all 4 correct

(B1 for 2 correct)


	12
	(a)


	
	Correct Frequency Polygon


	2
	B2    Fully correct polygon. Points plotted at the midpoint 

(B1   All points plotted accurately not joined, or one error in plotting but joined or 

all points plotted accurately and joined with, additionally,  first joined to last or 

all points at the correct heights and consistently within or at the ends of the intervals and joined (Includes joining last to first to make a polygon))



	
	(b)


	
	30 <t ≤40
	1
	B1    Allow any notation eg, 30-40 ft polygon

	
	(c)


	(6 +2) = 8, (4 + 8 + 14 + 16 + 6 + 2) = 50
	
[image: image57.wmf]8

50

 oe
	2
	M1    (6 +2)÷ (4 + 8 + 14 + 16 + 6 + 2) 

          or ft figures from polygon or

           
[image: image58.wmf]8

a

 with a > 8 or  
[image: image59.wmf]50

c

 with c < 50 or

            8 and 50 used but notation incorrect

            (eg.  8:50 , 8 out of 50)

A1     
[image: image60.wmf]8

50

oe (eg. 0.16) or ft figures from polygon




	13


	(a)


	
	 (3, 3.5) oe


	2
	M1 for a correct method to find the value of either the x coordinate or the y coordinate of the midpoint or x = 3 or y = 3.5

A1 cao

	 
	(b)
	
	-1.8 oe
	2
	M1 for correct method to find the gradient OR (+)1.8

A1 for -1.8 oe




	14
	(a)


	
	
[image: image61.wmf](7)

xx

+



	1


	B1    cao

	
	(b)


	
	
[image: image62.wmf](8)(2)

yy

--


	2
	M1    (y ± 8)(y ± 2)  or  y(y − 2) −  8(y −  2) or 

           y(y − 8) −  2(y −  8)
A1     cao



	
	(c)(i)


	
[image: image63.wmf]2

252

tt

++

 = 
[image: image64.wmf](21)(2)

tt

++



	
[image: image65.wmf](21)(2)

tt

++


	3
	M1     (2t + 2)(t + 1) oe or 2t(t + 2) + 1(t + 2)  or
           t(2t + 1) + 2(2t + 1)

A1      
[image: image66.wmf](21)(2)

tt

++

    



	
	(ii)


	This is always a product of two whole numbers each of which is greater than 1


	Correct explanation
	
	B1    ft from (i) for a convincing explanation referring to factors found in (i)


	15
	
	9 – 3 = 6


[image: image67.wmf]22

10664

-=


BC = 8

AC2 = 
[image: image68.wmf]22

98145

+=



	12.0
	5
	M2    102 − (9 − 3)2 (=64) or BC = 8

(M1    9 − 3 (= 6) may be seen on diagram)

M1     (indep) 92 + 'BC'2   where BC is a numerical

            value

M1    (dep on previous M1)
[image: image69.wmf]81'64'

+


A1     12.0 – 12.042




	16
	
	AC2 = 52 + 32

AC = 
[image: image70.wmf]9

25

+

 (=5.83)


[image: image71.wmf]83

.

5

5

= 
[image: image72.wmf]3

DB


DB = 
[image: image73.wmf]83

.

5

5

× 3 (= 2.57)

5 + 3 + 5.83 + 2.57 = 
	16.4
	5
	M1 for (AC2) = 52 + 32  =34)

M1 for 
[image: image74.wmf]9

25

+

or 
[image: image75.wmf]34

 (=5.83)

M1 for 
[image: image76.wmf]'

83

.

5

'

5

= 
[image: image77.wmf]3

DB

or DB×AC = 5×3 

M1 for (DB =) 
[image: image78.wmf]'

83

.

5

'

5

× 3

A1 for 16.4 to 16.41


	17
	
	
	35°
	4
	M1 for ABC = 90 

M1 for (ACB =) 180 – 90 – 25 (= 65)

M1 for (DBC =) 180 – ‘65’ – 80 (=35)

A1 cao supported by working

OR

M1 for (AOB =) 180 – 2 × 25 (= 130)

M1 for (ADB =) 130 ÷ 2 (=65)

M1 for (DAC =) 180 – 65 – 80

A1 cao supported by working.




	18
	
	9 × 100
	900
	2
	M1 for 10 × 10 (=100) or 9 × 100 or 1cm2 = 100mm2 or 30 × 30

A1 cao




	19
	
	x2 + 3 = 7x

x2 − 7x + 3 =  0


[image: image79.wmf]2
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x


OR

(x – 3.5)2 = 3.52 – 3 = 9.25

x – 3.5 = ±√9.25
	
[image: image80.wmf]2

37

7

±

=


OR

3.5 ±√9.25
	3
	M1 for x2 + 3 = 7x oe or clear intention to multiply all terms by x
M1 for 
[image: image81.wmf]2
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)
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(
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=

x

   ft from a quadratic equation of the form ax2 + bx + c = 0 where a,b,c≠0 ; condone wrong signs for a, b, c in substitution

A1 for 
[image: image82.wmf]2

12

49

7
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±

=

 or for 
[image: image83.wmf]2

37

7

±

=


as the final exact solution




	20
	
	c² = 60² + 90² –2×60×90×cos130º

c² = 3600+8100 –10 800×–0.6427876

c² = 11 700 + 6942.106

c² = 18642.106

c = √18642.106 = 136.536

Perimeter = 60 + 90 + 136.536


	286.5
	4
	M1 for substituting values correctly into cosine rule formula e.g. 60² + 90² –2×60×90×cos130º

M1 for correct order of evaluation

A1 for finding value of missing side in range 136 to 137 A1 for answer in range 286 to 287




	21


	
	4n2 + 12n + 32 – (4n2 – 12n + 32)

= 4n2 + 12n + 9 – 4n2 + 12n – 9

= 24n
=8 × 3n
	Proof
	3
	M1 for 3 out of 4 terms correct in expansion of either (2n + 3)2 or (2n – 3)2 

or  ((2n + 3) – (2n – 3))((2n + 3) + (2n – 3))
A1 for 24n from correct expansion of both brackets
A1 (dep on A1) for 24n is a multiple of 8 or 

24n = 8 × 3n  or 24n ÷ 8 = 3n 


	22
	
	AM = MC (given M is midpoint)

AL = LB (given  L is midpoint)

LB = MN (opp sides of a parallogram)

So AL = MN

BN = NC  (given  N is midpoint)

BN = LM (opp sides of a parallogram)

So LM = NC
triangles are congruent SSS

OR

AM = MC (given M is midpoint)

Angle ALM = angle ABN = angle MNC (corresponding angles)

Angle AML = angle MCN  (corresponding angles)

triangles are congruent ASA

OR

Angles CNM = Angles NML (alternate angles)

Angle NML = Angle MLA (alternate angles)

Therefore Angle MLA = Angle CNM

[Then lines 2 to 7 of the first method]

triangles are congruent SAS


	Proof
	3
	M1 for either AM = MC or AL = LB or BN = NC  

M1 for either LB = MN or BN = LM

A1 for conclusion of congruency (eg SSS) with all three sides shown as equal

OR

M1 for AM = MC

M1 for either Angle ALM = angle MNC  or

Angle AML = angle MCN  or Angle MAL = angle CMN

A1 for conclusion of congruency (eg ASA) with two angles and one side shown to be equal

OR

M1 for either Angle MLA = Angle CNM or AL = LB or BN = NC

M1 for either LB = MN or BN = LM

A1 for conclusion of congruency (e.g. SAS) with two sides and one angle shown to be equal

SC : Include appropriate pair of sides (eg. LM = NC) with justification of mid-point rule in any of above




[image: image84.emf]
	24
	
	5(2x +1)² = (4x + 5)(5x – 1)

5(4x² + 4x + 1) = 20x² + 21x – 5

20x² + 20x + 5 = 20x² + 21x – 5

20x + 5 = 21x – 5

x = 10
	x = 10
	5
	M1 for intention to multiply each side by 4x + 5

M1 for attempt to expand (2x + 1)2 or 5(2x + 1)2 

or (4x + 5)(5x – 1), at least 3 out of 4 terms correct

A1 for 20x2 + 20x + 5 or 20x2 + 21x – 5 oe

A1 for 20x2 + 20x + 5 = 20x2 + 21x – 5 oe 

A1 for 10




	25
	
	 y (5y + 24) = 0

−24±√(242)

       10
	x = 6, y = 0 
x = −3.6, y = −4.8
	5
	M1 for substitution for elimination eg (2y + 6)2 + y2 = 36

M1 (dep on M1) for expansion eg  4y2 + 12y + 12y + 36  (3 out of 4 terms correct)

A1 for 4y2 + 24y + 36 + y2 = 36 oe

M1 for a correct attempt to solve a 2 or 3 term quadratic equation eg by factorising or correct substitution into a quadratic formula

A1 for x = 6, y = 0 and x = −3.6 oe, y = −4.8 oe
SC: B1 (if M0 scored) for all 4 values mis-associated or one correct pair of values.
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	74.0
	2.24
	1.52
	38.0
	0.91
	0.51

	1306
	Q07
	1.58
	4
	40
	1.58
	3.75
	3.07
	76.8
	2.08
	1.01
	25.3
	0.33
	0.09

	1111
	Q08
	1.28
	4
	32
	1.28
	2.95
	2.50
	62.5
	1.86
	1.06
	26.5
	0.46
	0.23

	1211
	Q09
	0.87
	3
	29
	0.87
	2.33
	1.72
	57.3
	1.18
	0.74
	24.7
	0.44
	0.24

	1211
	Q10
	1.01
	4
	25
	1.01
	3.11
	2.37
	59.3
	1.54
	0.77
	19.3
	0.35
	0.14

	1011
	Q11
	0.89
	2
	45
	0.89
	1.52
	1.14
	57.0
	0.92
	0.77
	38.5
	0.66
	0.57

	1211
	Q12
	2.27
	5
	45
	2.27
	4.50
	3.82
	76.4
	2.98
	2.14
	42.8
	1.38
	0.73

	1306
	Q13
	1.21
	4
	30
	1.21
	3.31
	2.29
	57.3
	1.40
	0.78
	19.5
	0.39
	0.22

	1211
	Q14
	1.65
	6
	28
	1.65
	4.91
	4.14
	69.0
	2.64
	1.20
	20.0
	0.47
	0.11

	1211
	Q15
	0.64
	5
	13
	0.64
	4.04
	2.33
	46.6
	0.90
	0.25
	5.0
	0.07
	0.02

	1411
	Q16
	0.69
	5
	14
	0.69
	3.29
	2.15
	43.0
	1.37
	0.72
	14.4
	0.30
	0.05

	1411
	Q17
	0.43
	4
	11
	0.43
	3.40
	2.35
	58.8
	1.18
	0.27
	6.8
	0.06
	0.01

	1111
	Q18
	0.40
	2
	20
	0.40
	1.59
	0.87
	43.5
	0.37
	0.27
	13.5
	0.24
	0.18

	1111
	Q19
	0.16
	3
	5
	0.16
	1.85
	0.51
	17.0
	0.08
	0.01
	0.3
	0.00
	0.00

	1203
	Q20
	0.55
	4
	14
	0.55
	3.30
	1.70
	42.5
	0.36
	0.04
	1.0
	0.00
	0.00

	1206
	Q21
	0.29
	3
	10
	0.29
	1.78
	0.49
	16.3
	0.14
	0.04
	1.3
	0.02
	0.00

	1111
	Q22
	0.28
	3
	9
	0.28
	1.99
	0.98
	32.7
	0.28
	0.06
	2.0
	0.02
	0.01

	1006
	Q23
	0.21
	4
	5
	0.21
	1.52
	0.24
	6.0
	0.03
	0.01
	0.3
	0.00
	0.00

	1203
	Q24
	0.54
	5
	11
	0.54
	3.61
	1.44
	28.8
	0.35
	0.06
	1.2
	0.01
	0.01

	1406
	Q26
	0.62
	5
	12
	0.62
	3.25
	1.66
	33.2
	0.46
	0.06
	1.2
	0.01
	0.00

	0911
	Q28
	0.58
	5
	12
	0.58
	3.25
	1.56
	31.2
	0.33
	0.03
	0.6
	0.00
	0.00

	0911
	Q29
	0.48
	5
	10
	0.48
	3.45
	1.01
	20.2
	0.19
	0.03
	0.6
	0.00
	0.00

	 
	 
	23.63
	100
	24
	23.63
	75.30
	48.80
	48.80
	28.83
	16.09
	16.09
	8.83
	4.76
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_1491289146.unknown

_1493532027.unknown

_1493532105.unknown

_1493532110.unknown

_1493532112.unknown

_1493532113.unknown

_1493532111.unknown

_1493532109.unknown

_1493532103.unknown

_1493532104.unknown

_1493532102.unknown

_1491289167.unknown

_1493532026.unknown

_1491289161.unknown

_1434191099.unknown

_1434273289.unknown

_1445852540.unknown

_1434191113.unknown

_1305888906.unknown

_1395055800.unknown

_1434191085.unknown

_1382971477.unknown

_1305888844.unknown

